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B.A. Honours 3rd Semester Examinations, 2022

POLITICAL SCIENCE

INTERNATIONAL RELATIONS

CORE-6
Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

GROUP-A
Answer any one question from the following 15x]1 =15
1. What do you mean by Liberalism? Discuss the difference between Liberalism and >+10
Neo-liberalism.
2. Discuss the Realist theory as propounded by E. H. Carr. 15
X Discuss the evolution of Nation-State system. Is Nation system a myth today? ' 10+5
GROUP-B
Answer any one question from the following 10x1 =10
4. Discuss the nature and scope of International Relations. 10
- ) Discuss the features of Post-Cold War. 10
6. Discuss the causes of Second World War. 10
GROUP-C
Write short note on any one of the following X1 =35

7. Cold War
1Treaty of Westphalia
9. Concept of Third World.
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GROUP-D

10, Choose the correct alternatives: - I1x10=10

(1) ‘Politics Among Nations’ was written by -

(A) K. J. Holsti (B) H. J. Morgenthau
(C) E. H. Carr (D) None of them
(i) Bandung Conference, 1955 was held in
(A) Indonesia = (B) Burma (C) India (D) None of these

(111) Realists are
(A) Advocates of aggressive foreign policy

(B) Supports of war when it is necessary to further a rational understanding of
the national interest

' (C) Concerned with economic development only
(D None of the above b

(1v) NATO was formed in

(A) 1948 (B) 1950 (C) 1949 (D) None of these
(v) “‘One Nation, One State, One Party and One Leader’ is the slogan of
(A) Socialists ' (B) Fascists
(C) Anarchists ' _ (D) None of these
(v1) Pear] Harbour, USA’ Naval base was attacked by
(A) Germany (B) Italy (C) Japan (D) Cuba

(vi1) What was the main goal of Truman Doctrine?
(A) To expand trade with Europe
(B) To limit the build-up of Nuclear Weapon

(C) To stop the spread of communism
(D) None of the above

(vii1) The term ‘Détente’ 1s a _ .
(A) French Word  (B) Spanish Word  (C) Greek Word (D) Latin Word

(1x) What 1s Antonio Gramsci’s view of power?

(A) It comes out of a barrel of gun '
(B) It 1s a mixture of coercion and consent
(C) It 1s purely economic
(D) All of the options given are correct _
(x) Which countries comprised the Axis Power during World War II ?
(A) USA, France, Germany . (B) France, Estonia, Germany
(C) Japan, Italy, Turkey (D) Japan, Italy, Germany
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